

# R M M

ROMANIAN MATHEMATICAL MAGAZINE  
www.ssmrmh.ro



In  $\triangle ABC$  the following relationship holds:

$$1^{\circ}. \sqrt{\frac{m_b m_c}{r_a}} + \sqrt{\frac{m_c m_a}{r_b}} + \sqrt{\frac{m_a m_b}{r_c}} \leq \frac{4R + r}{\sqrt{3r}}$$

$$2^{\circ}. m_a^2 + m_b^2 + m_c^2 \geq w_a^2 + w_b^2 + w_c^2 + \frac{r}{4R} \cdot \frac{h_a h_b h_c}{m_a m_b m_c} \cdot (R^2 - 4r^2)$$

*Proposed by Nguyen Van Canh-Ben Tre-Vietnam*

*Solution by Mohamed Amine Ben Ajiba-Tanger-Morocco*

$$1^{\circ}. \sqrt{\frac{m_b m_c}{r_a}} + \sqrt{\frac{m_c m_a}{r_b}} + \sqrt{\frac{m_a m_b}{r_c}} \stackrel{BCS}{\leq} \sqrt{\left(\sum_{cyc} m_a\right) \left(\sum_{cyc} \frac{1}{r_a}\right)} = \sqrt{\frac{1}{r} \sum_{cyc} m_b m_c} \leq$$

$$\stackrel{\sum xy \leq \frac{1}{3}(\sum x)^2}{\leq} \sqrt{\frac{1}{3r} \left(\sum_{cyc} m_a\right)^2} = \frac{1}{\sqrt{3r}} \sum_{cyc} m_a$$

$$2^{\circ}. \frac{r}{4R} \cdot \frac{h_a h_b h_c}{m_a m_b m_c} = \frac{r}{4R \cdot m_a m_b m_c} \cdot \frac{8s^3 r^3}{4Rrs} = \frac{s^2 r^3}{2R^2 \cdot m_a m_b m_c} \leq$$

$$\leq \frac{s^2 r^3}{2R^2 \cdot s^2 r} \Rightarrow \frac{r}{4R} \cdot \frac{h_a h_b h_c}{m_a m_b m_c} \leq r^2 / 2R^2$$

# R M M

## ROMANIAN MATHEMATICAL MAGAZINE

[www.ssmrmh.ro](http://www.ssmrmh.ro)

$$\because \sum_{cyc} w_a^2 \leq \sum_{cyc} s(s-a) = s^2$$

$$\because \sum_{cyc} m_a^2 = \frac{3}{4} \sum_{cyc} a^2 = \frac{3}{2} (s^2 - r^2 - 4Rr)$$

It suffices to prove that:  $\frac{3}{2} (s^2 - r^2 - 4Rr) \geq s^2 + \frac{r^2}{2R^2} (R^2 - 4r^2) \Leftrightarrow$

$$s^2 R^2 \geq 12R^3 r + 4R^2 r^2 - 4r^4$$

By GERRETSEN:  $s^2 R^2 \geq (16R - 5r)rR^2 \stackrel{(*)}{\geq} 12R^3 r + 4R^2 r^2 - 4r^4$

$$(*) \Leftrightarrow 4R^3 - 9R^2 r + 4r^3 \geq 0 \Leftrightarrow (R - 2r)(4R^2 - Rr - 2r^2) \geq 0$$

$$\Leftrightarrow (R - 2r) \left[ 3R^2 + \frac{1}{2} R(R - 2r) + \frac{1}{2} (R - 2r)(R + 2r) \right] \geq 0, \text{ which is true from}$$

$$R \geq 2r \text{ (EULER).}$$

Therefore,

$$m_a^2 + m_b^2 + m_c^2 \geq w_a^2 + w_b^2 + w_c^2 + \frac{r}{4R} \cdot \frac{h_a h_b h_c}{m_a m_b m_c} \cdot (R^2 - 4r^2)$$

Note by editor:

Many thanks to Florică Anastase-Romania for typed solution.